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Soldions to Exam 4

I @A) plE) = (1.-85, )+ A(R,0,3) = (I-2k,75, 2r3%)

b) V=0:23)- Fho0,R) = (2,2.1) s a posshple. debon
vetor.
This. A= [h0,R)+ R(R.2,1) b & paramedric eqpaton K
w bne Wt goos Hemed e porch (1,2.3) and (-0, 8,2)
Ancthar P"“’L’A% 5 p)=[1/,2,3)+#R.~R.71).

Nok: TRece are 10 Hely moy comedt solitons
€) V=(2,-1,2)
PA=(1,2.3) + Al R.~]4 R)

D) V=(6,4-4), B=(2,R.2) Now Vi =52+ IA+42=0
Hemee B bne M) 55 perpendiculer o 9.

O Pis o bre, because (2-MH)=R(1,7R) which |
mees Yot 11322 agel £2-,4) are hnearly W%

R The surkoc s an tverkad elpheal cone
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5, Lok S=3iry) wry=)§ and sepee Tl y)=(62,2y)
Then TUS) = § T(r,y): 2ey=13 = §lox,29): 2% y*=1§ =
= flon ) (&% (&) =15 = ¢ (ww>: &+ fomi3, |
Hence TIS) 4% an dlipse.
The volume insibe e Mipse /s 62 T R=IRT
U, Lk 7= (2:8) (1) = ()R) and &= I-M)-(M) =(-2,71).
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Pﬂfaj/aé)w g/,mj Ay%& Sdme rfz}w%) The answer /s Z,

-5. a)  The p@e /s 5,:&0;1&;/ éy S(s,4) = //1293)*5(3’:"?3)*
+£(3,2.7)) = (1+25-32, R-5+2L | B+3s-2)
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2 = 3
-32-1

Than F*((W,)’,Z)“(/,,?,g)) =05 'Mo_ aé/bm@/W/O/?,
I packiass, =5(x-1)-7(y-2)+[2-3)=0 of
“hx- 7>/+Z+/6 =0 i a ¢/"OD‘WC”W:D/3 ,,9 %fx

P/e—-q,e_,,

i (“5;*73 ’)




(3) .
b, a) (T+5)l,y,2) = (3x+Ry-2, by, 2-2)+
+ (2z4yrz, 2, 3%) = (bzx+3y, ey ¥ x+2% )
D) (S-27) (25 2) = (Uz-By+32,~IRy+2, ~Rac+ )Y

¢) (7'5)(2,%2,) = (bx+3y+Rz, ézja?z—r)’*ﬁz) Lo hienr.
ot |
M{TS)= ,,L((r)/((s*).-(af o) s T
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(7%.¥) = (050) gmp T
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Therhore Y bt doe ol e,
Y Yo bt phove dependls o0 Ho drechin,
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B 5 Ay Baa &3 fa” 4y fo
Ay G,y Q5 i Qu e dza’ ¥
by, b, b3 .- l 674”_ a’b‘l d’.’:")
= ¥ fad)-= <@
(D,b;%)“/f?)}ng)
Veid e =
. = T 20,8y =
= éo—h?q ALY }5+6 = __--—-'?’ =
Lot (2108) = fgrn (2120 T a2 [2.70,8)

= (1,6,4),
| = Jo(z-1)+ (4+2) -3(z-0) ) <

0 Jex+y -3z -61-(:2)-3(0)
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(&)
p=(1,-,3) v=12,158) aald s6-p=11.5,6)-(1-1,%) =
= (0,6,%)

Now, I
I B S

(omPdXV = | o s | = (18,6,-12)
2 o B

N85 6,72) ) _ 3V Q+l+fj_:_/_.
Nlz.J)o,8)) " VIF25 + )6 D .

B, kb u=y-2x, tHep 2= fray)= B e
2 b consterk whencrs U is constents. D pardiiter,

<

=c ., =€ S Now u=c s #e same ar y-Rx=c o/

Mera ,'}A‘Z O/J'i%ﬂna. /5

y = fa+C,
Yoo coordmote Systom iy cobicd Hhe x-axis ik replaced by Hhe
/;he. Yy=Lx.
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